Equal 9 step grey scaling betweeh* j3\=20.0 andL*y,,=103.0,Yqre=3.6, normalisation white W

L*0an=20.0,L%0a=61.5,L* 0aw=103.0,Yoan=3.0, Y0a=29.8, Yoan=108.0,Coay=Yoawi Yoan=36.0
L*tan=30.4,L*1a=63.6,L*taw=103.0,Y;an=6.4, Ytau=32.4, Ytaw=108.0,Cray=Ytaw: Ytan=16.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 100, g%5= 99 9%= 75, g%y= 68 9%= 97, g'g= 97
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) V113 *a Al*la
Og 103.0 1.0 1080 1.0} 103.0 1.0 1080 1.0 103.0
100+ : 10.0 8.9
8 926 0875 821 0754 93.0 0.862 83.0  0.877 94.1
1 9.9 9.0
7 823 075 608 055 831 0.726 623  0.752 85.0
: 9.8 9.1
ST @6 719 0625 435 0386 73.3 0591 456  0.627 75.9
: 9.6 9.2
@5 615 05 298 0256 636 0.458 324 05 66.7
3 9.3 9.2
50+ @4 512 0375 194 0.15§ 54.389 0.329 223 0373 57.5 o
@3 208 025 117 0.088 45.4 0.207 14.8  0.247 48.3
: 8.1 9.0
@2 304 0125 64 0032 373 0.095 9.7 0.124 39.4
25—+ ; 6.9 9.0
@: 200 00 30 00 304 00 64 0.0 30.4

. ? N YoaitYe
L AL*n.= = i normalisation: Yigiw=Yoaw2ai 0ref
0l AL*g104  (=12,..8) | taiw =Yoawy 22l el

eek20-3n



